(-4.0m)

WINGHIE AR L=400m v
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FREE L=B0m
Hive (BRI L=100m
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| iHgE L=320m

— AR 1.4ha
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600m — 400m

25

43

68
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H16

H15

H14

H13
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S63 H1 H19H1qH17|H18|H19H2qH21 H22|H23H24H25|H26|H2 AH28H29)

a0m | 167 95% 57%

gom | 87 6.3% 73%

( ) 100 m 75 15 % 20%
520
caom| seom | 74| aa| | —— 428

S63 H29

S63 H22)

320 m 0.3 0 0%
14 ha 6.3 0 0%
1.2 ha 7.6 0 0%
205 (167 38 )
106 (95 1)
99 ( 72 27 )
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H15
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20 100 5
100 500 8 4,045
93

B8 amL=175n
B FE ORI5S00 — 9T 5%
“FEMTIRE | — R 154mE — 175miE

ma

FERF (.7 3m) L= 198m

W3 B89 2% — 0T AR
AN RE = A3ER: 1B ImifE]

4,045+ 93 44 2

THREE (4l L= T0m
A BB OB pE 0% — 0T A%
PR ERE T2 AR 62mi(E = TomE

PR L Am) L=520m
B BB 0% - 97 5%
-EEEETRE (23R 370m/E —+ 52amilE
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+ 13am'E

20t
20 100t
100 500t
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1987

(€))

1991

1987 27,514
25,186
108,111
1991 40,187

200,998
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167.0 95.4 1988 2017

8.7 6.3 1988 2009

14.9 4.6 1989 2009

7.7 0.0 2009 2010

6.4 0.0 2009 2010

0.3 0.0 2009 2009
205.0 106.3
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-10 +10 -10 +10 -10 +10
) 298 268| 327 298 298 310 286
294 284| 323 294 294 306 283
1.3 1.2 1.4 1.3 1.3 1.3 1.2
0.7 0.6] 0.7 0.7 0.7 0.7 0.6
1.9 1.9 1.9 1.9 1.9 2.0 1.8
) 218 218| 218 210 225 219 216
214 214| 214 207 222 216 213
3.2 3.2 3.2 3.0 3.4 3.3 3.1
(CBR)B/C 1.4 1.2 1.5 1.4 1.3 1.4 1.3
(NPV)B-C 80 51| 110 88 712 90 70
(EIRR) 5.3 4.9 5.7 5.4 5.2 5.5 5.1
-10 +10 -10 +10 -10 +10
) 295 266 325 295 295 307 284
294 264| 323 294 294 306 283
0.3 0.3] 0.4 0.3 0.3 0.3 0.3
0.02] 0.02] 0.03| 0.02] 0.02| 0.03| 0.02
1.1 1.1 1.1 1.1 1.1 1.1 1.1
) 78 78 78 70 86 80 77
76 76 76 68 84 78 75
2.3 2.3] 2.3 2.0 2.5 2.4 2.2
(CBR)B/C 3.8 3.4] 4.1 4.2 3.4 3.8 3.7
(NPV)B-C 217 188 246 225 209 227 207
(EIRR) 17.2] 15.6] 18.8| 18.9| 15.8] 18.8| 15.9
Cost Benefit Ratio
B B/C
1.0
Net Present Value
B B-C

Economic Internal Rate of

-29 -

Return




O O O O

-30 -



